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Ph.D. Entrance Examination, 2024

PSYCHOLOGY

Maximum Marks : 50

Note : Each question carrying 2 marks.

Q. 1. Famous formula of S-O-R in psychology was

given by :

(a) Watson

(b) Woodworth

(c) Pavlov

(d) Thorndike

ceveesefJe%eeve keâe Øeefmeæ met$e Godoerhekeâ–peerJe–Devegef›eâÙee efkeâmekesâ

Éeje efoÙee ieÙee ?

(De) Jeešmeve

(ye) Jeg[JeLe&

(me) hewJeuee@Je

(o) Leeve&[eFkeâ

1

Q. 2. Indian Psychological Association was established

in :

(a) 1915

(b) 1925

(c) 1935

(d) 1945

YeejleerÙe ceveesJew%eeefvekeâ mebIe keâer mLeehevee ngF& Leer :

(De) 1915

(ye) 1925

(me) 1935

(o) 1945

Q. 3. Determinants of personality are :

(a) Biological

(b) Socio-cultural

(c) Situational

(d) All of the above

JÙeefkeälelJe kesâ efveOee&jkeâ nw :

(De) pewefJekeâ

(ye) meeceeefpekeâ–meebmke=âeflekeâ
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(3)

(me) heefjefmLeefleiele

(o) Ghejeskeäle meYeer

Q. 4. Which of the following is associated with sleep,

mood and appetite ?

(a) Acetylcholine

(b) Endorphin

(c) GABA

(d) Serotonin

efvecveebefkeâle ceW mes keâewve veeRo, ceveesoMee SJeb YetKe mes pegÌ[e ngDee nw ?

(De) SefmešuekeâesueeFve

(ye) FC[e@efhe&âve

(me) ieeyee

(o) meerjesšesefveve

Q. 5. Which of the following can not be included in the

law of perceptual orgnization :

(a) Law of exercise

(b) Law of continuity

(c) Law of proximity

(d) Law of similarity

efvecveebefkeâle ceW mes efkeâmes ØelÙe#eCe mebie"ve kesâ efveÙece ceW Meeefceue

veneR efkeâÙee pee mekeâlee nw :

(De) DeYÙeeme keâe efveÙece

(ye) efvejblejlee keâe efveÙece

(me) meceerhelee keâe efveÙece

(o) meceevelee keâe efveÙece

Q. 6. Learning is the change in behaviour of an

individual which is depends only on :

(a) Only Practice

(b) Only Experience

(c) Practice & Experience both

(d) Only Maturity

meerKevee JÙeefòeâ kesâ JÙeJenej ceW nesves Jeeues Jewmes heefjJele&ve keâes

keâne peelee nw pees Ieefšle neslee nw :

(De) kesâJeue DeYÙeeme hej

(ye) kesâJeue DevegYeJe hej

(me) DeYÙeeme SJeb DevegYeJe oesveeW hej

(o) kesâJeue heefjhekeäJelee hej

(4)
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(5) (6)

Q. 7. Match list I and list II and choose the correct

option given below :

List - I List - II

(A) Thorndike 1. Variable ratio schedule

(B) Skinner 2. Law of Exercise

(C) Pavlov 3. Expectancy

(D) Tolman 4. Trace Conditioning

Options :

(a)
A B C D
2 1 3 4

(b)
A B C D
2 1 4 3

(c)
A B C D
3 2 1 4

(d)
A B C D
4 3 2 1

metÛeer–I Deewj metÛeer–II keâes megcesefuele keâerefpeS leLee veerÛes efoS ieS

mener efJekeâuhe keâe ÛeÙeve keâerefpeS :

metÛeer– I metÛeer– II

(A) Leeve&[eFkeâ 1. heefjJelÙe& Devegheele metÛeer

(B) efmkeâvej 2. DeYÙeeme keâe efveÙece

(C) hewJeuee@Je 3. ØelÙeeMee

(D) efmkeâvej 4. efÛebn DevegyebOeve

efJekeâuhe :

(a)
A B C D
2 1 3 4

(b)
A B C D
2 1 4 3

(c)
A B C D
3 2 1 4

(d)
A B C D
4 3 2 1

Q. 8. Biological factors of personality do not includes :

(a) Heredity

(b) Physical characteristics

(c) Capacity of brain

(d) Parenting style

JÙeefkeälelJe kesâ pewJeIeškeâeW ceW Meeefceue veneR nw :

(De) DeevegJebefMekeâlee

(ye) Meejerefjkeâ efJeMes<eleeSB

(me) ceefmle<keâ keâer #ecelee

(o) heeueve-hees<eCe keâer Mewueer

W-112 P.T.O. W-112



(7) (8)

6

Q. 9. Which one of the following is not an element of

psychoanalytic theory :

(a) The Id

(b) The Ego

(c) The Consiouscness

(d) The Super Ego

efvecveebefkeâle ceW mes keâewve mee ceveesefJeMues<eer efmeæevle keâe lelJe veneR

nw ?

(De) Fob

(ye) Denb

(me) Ûeslevee

(o) hejeDenb

Q. 10. In Gardener's view, astronauts, navigators and

artists would be high in the ability of :

(a) Linguastic

(b) Spatial

(c) Interpersonal

(d) Emotional

iee[&vej kesâ Âef°keâesCe mes Debleefj#eÙee$eer, veeefJekeâeW Deewj keâueekeâejeW

ceW GÛÛe #ecelee nesieer ?

(De) Yee<eeÙeer

(ye) mLeeefvekeâ

(me) DevleJezÙeefkeälekeâ

(o) YeeJeveelcekeâ

Q. 11. The area of brain that is most involved in aggression

is the :

(a) Amygdala

(b) Pineal gland

(c) Cerebellum

(d) Cortex

ceefmle<keâ keâe Jen #es$e pees Dee›eâecekeâlee ceW meJee&efOekeâ Meeefceue

neslee nw, Jen nw :

(De) Sefcei[wuee

(ye) heerefveÙeue «ebefLe

(me) mesjeryesuece

(o) keâešxkeäme
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(9) (10)
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Q. 12. According to Sternberg theory of love, which one

of the following is not the component of love :

(a) Attractiveness

(b) Intimacy

(c) Passion

(d) Commitment

mšve&yeie& kesâ Øesce efmeæevle kesâ Devegmeej, efvecveebefkeâle ceW mes keâewve

Skeâ hÙeej keâe Ieškeâ veneR nw :

(De) Deekeâ<eCe&

(ye) DeelceerÙelee

(me) petvetve

(o) Øeefleyeælee

Q. 13. Studies have found that degree of confirmity to

be greater in _______ cultures :

(a) American

(b) European

(c) Individualistic

(d) Collectivistic

DeOÙeÙeveeW mes helee Ûeuelee nw efkeâ _______ mebmke=âefleÙeeW ceW

Deveg™helee keâer cee$ee DeefOekeâ heeÙeer peeleer nw :

(De) Decesefjkeâve

(ye) ÙetjesefheÙeve

(me) JÙeefòeâJeeoer

(o) mecetnJeeoer

Q. 14. A test that gives similar scores for a person each

time, the person takes it, is considered as

________ test.

(a) Power

(b) Reliable

(c) Valid

(d) Standardised

Skeâ hejer#eCe pees efkeâmeer JÙeefòeâ keâes ØelÙeskeâ yeej meceeve Debkeâ

oslee nw, Gmes ________ hejer#eCe ceevee peelee nw :

(De) Meefòeâ

(ye) efJeMJemeveerÙe

(me) JewOe

(o) ceevekeâerke=âle

Q. 15. In psychological experiments, the group on which

the independent variable is used is called :

(a) Main group

(b) Controlled group

(c) Observed group

(d) Experimental group



(11) (12)
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ceveesJew%eeefvekeâ ØeÙeesieeW ceW efpeme mecetn hej mJeleb$e Ûej keâe ØeÙeesie

efkeâÙee peelee nw, Gmes keâne peelee nw :

(De) ØecegKe mecetn

(ye) efveÙebef$ele mecetn

(me) Øesef#ele mecetn

(o) ØeeÙeesefiekeâ mecetn

Q. 16. Another name of controlled variable is :

(a) Irrelevant variable

(b) Manipulated variable

(c) Extraneous variable

(d) Stimulus variable

efveÙebef$ele Ûej keâe otmeje veece nw :

(De) Demebiele Ûej

(ye) heefjÛeeefuele Ûej

(me) Jee¢e Ûej

(o) Godoerhekeâ Ûej

Q. 17. Which one of the following is a cognitive symptom

of stress ?

(a) Insomania

(b) Anxiety

(c) Over eating

(d) Memory problem

efvecveebefkeâle ceW mes keâewve-mee Skeâ Øeefleyeue keâe meb%eeveelcekeâ ue#eCe

nw ?

(De) Deefveõe

(ye) ogeEMÛelee

(me) DeefOekeâ Keevee

(o) mce=efle mecemÙee

Q. 18. Which one of the following is not a type of

probability sampling ?

(a) Random sampling

(b) Cluster sampling

(c) Stratified random sampling

(d) Quota sampling

efvecveebefkeâle ceW mes keâewve mee Skeâ mebYeeJÙelee ØeefleÛeÙeve keâe Øekeâej

veneR nw ?

(De) mebÙeesefiekeâ ØeefleÛeÙeve

(ye) iegÛÚ ØeefleÛeÙeve

(me) mleefjle mebÙeesefiekeâ ØeefleÛeÙeve

(o) keâesše ØeefleÛeÙeve

Q. 19. Which one of the following is not a research

techniques given by ‘Cattel’ for factor analysis of

personality data :

(a) S-technique
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(b) P-technique

(c) Q-technique

(d) R-technique

efvecveebefkeâle ceW mes keâewve meer Skeâ kewâšsue Éeje oer ieF& JÙeefkeälelJe

mecyevOeer DeebkeâÌ[eW kesâ keâejkeâ efJeMues<eCe keâer MeesOe ØeefJeefOe veneR nw :

(De) Sme–ØeefJeefOe

(ye) heer–ØeefJeefOe

(me) keäÙet–ØeefJeefOe

(o) Deej–ØeefJeefOe

Q. 20. In which of following Sely's stages death may be

a possible outcome ?

(a) Alarm

(b) Resistance

(c) Exhaustion

(d) Reaction

mesueer kesâ efvecveebefkeâle efkeâme DeJemLee keâe ce=lÙeg Skeâ mebYeeefJele

heefjCeece nes mekeâlee nw ?

(De) ÛesleeJeveer

(ye) ØeeflejesOe

(me) LekeâeJeš

(o) Øeefleef›eâÙee

Q. 21. The most important contribution to the

development of Biopsychosocial Model of Health

is of :

(a) Psychologist

(b) Sociologist

(c) Physician

(d) All of the above

mJeemLÙe kesâ pewJe-cevees–meeceeefpekeâ cee@[ue kesâ efJekeâeme ceW

meJee&efOekeâ Ùeesieoeve efkeâmekeâe nw ?

(De) ceveesJew%eeefvekeâeW keâe nw

(ye) meceepeMeeefŒeÙeeW keâe nw

(me) efÛeefkeâlmekeâeW keâe nw

(o) Ghejeskeäle meYeer keâe nw

Q. 22. The linguistic relativity hypothesis states that :

(a) Thoughts shapes language

(b) Language shapes thoughts

(c) Language and thoughts influence each other

(d) Language and thoughts develop independently

Yee<eeF& meehes#elee heefjkeâuhevee keânleer nw efkeâ :

(De) efJeÛeej Yee<ee keâes Deekeâej osles nQ

(ye) Yee<ee efJeÛeejeW keâes Deekeâej osleer nw
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(15) (16)

(me) Yee<ee SJeb efJeÛeej Skeâ otmejs keâes ØeYeeefJele keâjles nQ

(o) Yee<ee SJeb efJeÛeej mJeleb$e ™he mes efJekeâefmele nesles nQ

Q. 23. To measure personality sometimes some vague

and unstructured stimulus situation is placed

infront of the person such a measurement is

called :

(a) Subjective measure

(b) Projective measure

(c) Objective measure

(d) Empirical measure

JÙeefkeälelJe keâes ceeheves kesâ efueS keâYeer-keâYeer JÙeefòeâ kesâ meeceves kegâÚ

Demhe° SJeb DemebjefÛele Godoerhekeâ heefjefmLeefle keâes jKee peelee nw :

Ssmeer ceehe keâes keâne peelee nw :

(De) Deelceefve‰ ceehe

(ye) Øe#esheer ceehe

(me) Jemlegefve‰ ceehe

(o) DeevegYeefJekeâ ceehe

Q. 24. In the set of numbers – 2, 3, 2, 2, 5, 6, 5, 8, 16

the median would be :

(a) 2

(b) 5

(c) 7

(d) 5.44

oer ieF& mebKÙeeDeeW : 2, 3, 2, 2, 5, 6, 5, 8, 16 keâe ceOÙeebkeâ

nesiee :

(De) 2

(ye) 5

(me) 7

(o) 5.44

Q. 25. Which model of abnormality explains that

abnormal behaviour are caused by illogical

thinking ?

(a) Biological

(b) Psychoanalytic

(c) Cognitive

(d) Humanistic

DemeeceevÙelee kesâ efkeâme cee@[ue kesâ Devegmeej DemeeceevÙe JÙeJenej

Deleeefke&sâkeâ efÛebleve kesâ keâejCe Glhevve nesles nQ ?

(De) pewefJekeâ

(ye) ceveesefJeMues<eer

(me) meb%eeveelcekeâ

(o) ceeveJeleeJeeoer

——


